Planck length: a unit of distance representing the scale at which gravity, and perhaps space itself, becomes quantized (discrete) rather than continuous. This is the shortest distance that is meaningful in our understanding of the laws of physics. The ‘plank length’ is defined to be the square root of Gh/c3, where G is the universal gravitational constant, h is Planck's constant, and c is the speed of light. This makes the planck length about 4.051 x 10-35 metre. 
Planck time: a unit of time equal to the time required for a photon moving at the speed of light to travel the distance of ‘One planck length’. This is the shortest time that is meaningful in our understanding of the laws of physics, representing the scale at which time itself may become quantized (discrete) rather than continuous. The planck time is about 1.351 x 10-43 second (3.7527778 x 10-43 sd ).
*T-UNIT CALCULATIONS



*(modified on 2004 October 22)
Mean Lunation and ‘short tithi’: 834-yr cycle (304612 days/10315 Lunation), gives Mean Lunation =29.5309743093 days. This is achieved, using 2L/59th =1.00103688475 day (for each tithi/Phase) & close enough to ratio 966/965=1.00103626943 day (good for SOFTWARE development); OR also using 19/6932.5th year (1 Tithi =1.0010243928923 day). Mean Lunation, over longer period, for (19*834 =15846-years) cycle can be improved to: 578762774/19598755= 29.53058 8754 day”. 


All three values ‘for use of Tithi’ are important, and conducive to use in achieving the final aim, 2L/59th day:


1 TITHI = 19/6932.5 year =1.0010243928923 day;


1 TITHI = 2L/59th = 1.001036884745763 day; and


1 TITHI = 966/965 =1.001036269430052 day.

Using 19-year Metonic cycle, *ONLY three tithi* need be omitted during years 284th, 549th & 834th (or as felt necessary by astronomy experts). One tithi need be removed after 4464 years for alignment when using ‘ratio 966/965’.  

Using *19/6932.5-yr tithi' causes a differential of 0.000012491853463 d, between the this and ‘2L/59th tithi’ to cause ONE tithi over 80134.176714229361 tithi (in 219 years 228 days 5.4254 hours). This is FOUR times in 874 years (say every 834-year cycle). Now, 834-years =304611.986184597354 days (in 10315.13443461010362 Lunations) =304300.26315789338846 tithi (of 19/6932.5 yr each)


   =304296.465820997969101741 (tithi of 2L/59th lunation)


   =304296.65286556562301926  (tithi of ratio 966/965)

My choice for ‘ratio 966/965’ is obvious over ‘6932-1/2 tithi in 19-yr cycle’ that I used during my earlier calculations. Tithi (ratio 966/965) to Tithi (2L/59th) difference over 834-yr cycle is 0.187044567653917519 d; this accumulates to ONE tithi over 4463.450926035 years. ALTERNATELY, this correction can be achieved, using Tithi/138 – intervals =0.007253890467 d and short accounting ‘26 tithi differentials of T/138’ once every 32 years (as TITHI SHORT). This may pose difficulty for ‘software development’ using ratio tithi.


This may not be a serious issue for EXPERT programmers to align 834-year cycles, and produce desired results. I, therefore, remain in favour of *ratio 966/965 tithi OVER tithi value 19/6932.5-yr* to achieve the target value of 2L/59th 'tithi' value

* Important NOTE to Karl (20041023H0242(decimal):.

 >.....This error is serious and also easily corrected, please read that note about it.

 Perhaps I did NOT catch the point right. If it is regarding the Tithi duration or interval, in one of my earlier postings I did mention that intention is to arrive at the target value of  TITHI *ratio 2L/59th* using ratio 966/965; and we had reconciled that practical Tithi duration can be the interval *Week/965* knowing that 966 solar days make '138 weeks of 7-days each' which suit the needs for Leap Weeks Calendar Reform using 896-years/159 LWks or 834-years/148 LWks.

 Working for the ultimate value that we recognise for 'X or T-Unit' could be arrived from:

ONE T-unit =T/138 = 0.00725388601d =1740.93264248704663212435233160622 decimal second

(Or, X-Unit =1741 sd). Also placed at:

http://www.the-light.com/cal/bbv_lunislrXorT-Units.doc

where I have also attempted  to show durations for sub-units of the year/week/day/hour/minute in terms of X or T-Unit; and can be checked, X-Unit =1741 sd.

 I did the mistake of quoting my note of date 2004 April 08 which should be of date *2004 October14 and Subject line: Objective Subjects*. You must have observed this.

 The longer cycle of 373632-years caters to all THREE schemes: 128-yr, 7*128 =896-years or 2*417 =834-years; 373632-years =7*128*417 or 128*2921(linked to 8-year cycle).

 Did I get the point right, sir?

metricvij@hotmail.com 



* Tithi UNIT and  T/138, as X-unit:

ONE lunation =29.5305881 days; One Tithi =2L/59th= 1.00103688474576271186440677966102 d

ONE T-unit =(Week/965)/138 = 0.00725388601d =1740.93264248704663212435233160622 decimal second, (Or, X-Unit =1741 sd).

1 Decimal minute (md) = 0.0574404761904761904761904761904834 X-units


1 HOUR = 100 md = 5.74404761904761904761904761904834 X-units


12-Hours = 68.92857142857142857142857142858 X-units


1 Day = 137.85714285714285714285714285716 X-units


7 days or 1 Week = 965 X-units


ONE Lunation =4071.00250235714285714285714285588 X-Units


364 days (52 weeks) = 50180 X-units


371 days (53 weeks) = 51145 X-units


ONE Year = 365.242189669781 days =50351.2447187626664285714285714129 X-units


100 Years =5035124.47187626664285714285714129 X-Units


128-years = 46751.000277731968 days = 1583.138138645195758902 Lunation  



  = 6444959.32400162130285714285714048 X-Units


417-years =152305.993092298677 days =5157.5672173050518083 Lunation



  =20996469.0477240319007142857142792 X-units


834-years = 304611.986184597354 days (in 10315.1344346101036165954311 Lunation)

        = 41992938.0954480638014285714285584 X-units


    896-Years = 327257.001944123776 days =11081.9669705163703123135567 Lunation



         = 45114715.26801134912 X-Units


LONG CYCLE of 373632-years =(128x7x417) =(128x2919) =(896x417) YEARS 


         = 136466169.810699614592 days =4621180.22670532642023475313043292 Lunation


         =18812836266.76073258304  (say, 18812836267) X-Units


Mean Year =136466170/373632 =365.2421901764303 days; and 


Mean Lunation =136466170/4621180 =29.530589589671902 days (29d 12h 73md.415015213) 

       
or =29d 12h 44m 2s.940547668


In Brief:


1 T-Unit  (T/138) =X-Unit =1741 sd; 


1 Decimal minute = 0.05744 X; 1 Hour =5.744 X; 6 Hours = 34.4643 X; 12 Hours =68.9286 X;


24 Hours = 137.8571 X; One Week (7-days) = 965 X; 52 Weeks (364-days) =50180 X; 


53Weeks (371-days)= 51145 X; ONE Year = 365.242189669781 days =50351.2447188X


417-years =20996469 X; 834-years =41992938 X ; 896-years = 45141715 X; and 


373632-years =18812836267 X-Units


It may not be difficult for *Astronomy experts* to see through the utility of 'T or X-Units' that link Moon's motion with the motion of Earth and Sun for 'Ephemeris Astronomy and Calendar construction'.











